INVINCIBILITV B e T

HERH REEEAD

SREWHE

mﬁjcgmr#ﬁ%ﬁtmﬂ A

I élnl l'“ A ( A ‘FHI

Wt PRk e D)



A RERYKFEFAE D
CET—6 Spurt

(ZREFREEM)

f{{)*‘fﬁkno_)
E?E AEF - TN B



oo = = NP e =
(BOFEF 0145 R s
tyr® LT
Fll LR r— T bl pror— . i e ——
ey e =T oAl L \
A,T'f;"“fu _—h-&‘ ",{;" ‘7 \\'
R T R S N
o = e s m —  ——— _L}
v . !
Ny i - — JEDER—— — . - vy i ma e m——— [
B
RIFRPAFFIEINR

S HEHEFR

*  @ogxs zgR N
H G, KA :

"
k
a

v
. Y
i - -

H

® 3

R

ZCBY ko HRRT
(FRMMA# 175 B4 710001)

Rl XFEAROQZT B

TFHNBH

B BHBEHE HSXBELE

3 o
% 850x 1168 1./32
[ +

Iy

3. 7.81

. 218 F% ¢

K 19994F 9 A 1RE 1999 4F 9 A4 1 WENR
#. 0001 — 20000 #t

{_;, ':" ' 31) ,‘«i' I‘.‘ .;‘: -f."’
ISBN _7-5062—2448-8/H-201 -1

Wx2448~71 EH:8.005T



s e S 0 S S

I

ROIGIGION

,—;\L,,' . < D . -J &‘

p2)

SEASRBD, A ,\;&%m%m&%‘*p:& a3
e — P AL GO IR K, EEFARERD
B AR RIS S WA M g — R AR B A
TR T IRIE OO RE R, T IR R R AR
B A RS T TN, ﬁmﬁ@x#;azz&#;lc%aj
BABTER, SR

B ﬁ%x#—'ﬁﬁim\,\%%‘ﬁz—-#xﬂ&%ﬁ sz
R RE R e F 5 e—Ei RIS R A
EREST LR, 33 Ak ehRoIR OB HRTT R
Iﬁééﬂ'-ﬁ‘o :tyj'ﬁmx&aﬁ%‘mébﬁ‘ﬁ 4uw§ @1%
HikehF B A BRI R B AR R RS RRAE 8
FEAIE, FAERAITRLOFTE KM, 5 1058,
HERBXICER 46 R TR S HE Ak B
B, BITMEIRE Rﬂ'tt%"ﬁt Jﬁfiliw'i %%%71 =B
T, A B TEED A LR A T b B ST R — R B AT
15 K 5057 T T ELIREY T

3T A A AR SIA L RITER ST K IR)
652 B R B S 0 MR i S A TR O SRR TR IR P —




R Y

A A R R T Y

NEIER ERA AT EES, KRN R E 53¢
\Aﬁ%ﬁﬁ%%%m%mx¢%*7ﬁ6§%£m
A A S AR e RS A e,
HABEERA, KA REHRT BRALTLHRHAS,
FEZIMBT BETET HE5 5 XFH L fo 841
(@ﬁi’ﬂﬁ)é@xﬁ' %ﬁiﬁ'ﬁim"*ﬁ' AKX AME =,
o AR B BE, HAR S AL TS, ) R £ MR — A,
RABB, HTIEEET MARRIBE ALE K
W, BRW RS RIET (A RRBRHAL) A
HRTFOABAKE RS ST 60 MM B S
RiRFREARRIBOARERIBAOEHBI, 5
ikt ABHT 42 2TERRARA KRB, <2
AR, FERASEERE, | - - .
. FDOIRBEMIBRRELIME AR, B+ 57
ARGIHELIEE RLIAR AT BB, S Todate
ﬁm&ﬁ#*%ﬂﬁﬁﬁa%ﬁﬁ%&fxﬁ%%
WiE, L .-
ﬁfx%imﬁ£@7$%ﬁilﬁﬁeiﬁﬁﬁ
7[(-'-'{'—! . .

- IR

3 a %fk*i“ﬁﬂii}' ' 'fi A _r'&_. .

R IPL T Lo ] ™
. S Lo




B werir e e ne e e e s el

ot
]
N
- -
. 3.

- -contents: .

/

~

1991 4E 6 H CETY R ERA  GobusbredalutasdL et g
1993 4F 6 H CETg R ELIRIE e ovnins svtvnn s i 17
1994 4£ 1 CETg TR «+vvvvervrrvrrsrrreenniininniinnd B 33
1995 4E 6 A CETE £ RIRE - vsmrivreeppenmndnsninn i, 50
1996 4E- 1 H CETs £ E iR+ e dosa . 67
1997 41 H CETg S RLARM -+ ovvvreveremrererminmniiniinniins 47 84
1998 451 H CETg £ E R+ - rivsrefarvnssesses ","':"""""L'"é':""‘\"‘"' 101
1999 £ 1 H CETg @ERB -+ ovevvrrvnerniiennnn BL 10
B3R 1 O FE e TFE oL T a
92 19914 6 A-CET, 2R RBREXFMBRER
5&% ............................................................ n 137
HFR2-.. P B N S NS
19934 6 A CETs @R HBRFXFHE RER

sk 3 :
1994 % 1 A CET; £ HREF F X EM B RZ



1995 € 6 A CET; &R RBREXTMHEER

M 5

1996 45 1 i CET, éﬁﬁtf{ﬁ% p EIEEN T L

R e Tl T e et reeeaeneesinineaes 186
B3 6

B 7 .
1 ...1998. @ 1 A.CET éEﬁﬁ%%ﬁc?Mﬂ&K% I (2

RS .. .. ... ‘ N SUPTTEC NN SCITE - O B Y 1
1999 4F 1. B CETs &R ABREXFHREER ¢ .« !

TN AR e Feetsertsansiiians s T T il de e 290
mig . « e e aes seuera _' 3 ,-"»‘.‘ r’/ ]k-\.l “ ‘“391

i B F IR YRR AR ) Seighed e I b 199730

BF 10 - - SN L% S - WA NO
REZEN ANEHRERSATHEAITEE P
%#@&&%.ﬁ..._.1..._...‘..:,;.,.;.»..»:.j‘._;._.g.(._,...j.[.=-.;._}.._3,..-....[..‘1..;.; 236

BHESE 11 o+ ever moee = b ove o e ee e weee see ceeseean R
(T E&EK¥EIFN \/\&%iﬁ%%m?mﬁ%ﬂ -------- + 244

RS U U S SIS W SLRIY SR o G

S R g F VR TY LT 0 F TR
C_li .................. ;}*;



1991 %6 A CETs £ Ak (1)

Sl " ts

D . . %
1991 4£ 6 A CET; £HiX@E
" s PN [ i R

: P T :
Part | , . Listening Comprehension
Section A v ‘ e, v Vo

Directions: In this section , you avill hear 10. short conversations. At the end of

i

A 20.,1_'ninujes)

A »
each conversation , a question will be asked about, what, was said .
' Both the conversation and the question will be. spoken wnly once.
. After each question there will be:a pause. During the pause; you
must read the four choices marked A); B), C). and D), -and decide
which is the best answer . Then mark the corresponding letter on,the

Answer Sheet with a single line through the centre,. . -
Example: You will hear; M:; When ghall we start our work Jane?. :
W Tomorrow at 9 dclock. But we must work quickly
for we-have to finish everything before, 2 in)y the

afternoon. . ) i

5 Q: For how long can they work?

You.will read: A) 2: hours. . o
' B)3 hours. ) L oLt
I C)4houws. .~ _ T T
D) 5 hours. . X R

From the conversationswe know. that the two were talking about some
work they will start:at.9-oclock iri'the morning.and have. to. finish at
2 in the:afternoon'. Therefore, D) “5 hours” is thecorrect, answer.
You should. choose [.D.] on the Answer Sheet:-and. mark it with a
single line through .the centre : - R "

)

Sample Answer [A] [B] [C] P
. e ' DR, ) .

) , N [
1. A) ‘She wants to return the skirt her husband boughts - x
B) She wants totbuy:anothér skirt. . LRy '

C) She wants to change: the. blueskirt for-a yellow. one: -

n
n
a
Al
Nl
0
gl
il
n
n
fll
0
n
gl

(SoHRMEHGRED



K] 1991 4 6 A CETs 2R %M

\P)‘ She wants to change the yellow skirt for a blue one.
2. A) Its too expenswe AN r ) It should be builty, 4 H

B) It istit needed. - D) A oollege would be better.
3. A) JacKs car was stolen ©) Jack bought a new car.
“B) Jack'sold his car. ! - - " D) Jack'hid & dr accident. R
4. A) Some people pretend to know what they really don't. £t
'B) What the woman said is true. A AR L TR
C) ‘Whatthe woman said is wrong.
D) He knowsimdre ‘than the woman does: R
. 5. A) The womar's job as a librarian ) v
:: " B) Womens rights in society. s v
:: * *C) Animiportant- election. <% T Y t
) D) Career planning: nly D -
w 6. A) She thinks it is easier said than done. 1 .U . -

n
n
i)
"

v B) She totally agrees with him. b
C) She feels that' what he says is simply  nonsense.
D) She thinks that he is"a rather impolité person.

7. A) To clean the yard. - €) To hirea gardener.

B) To weed the garden. D) To work.in‘the flower beds.
8. A) On the 6th of June. C) On the 9th of June.

B) On the 8th of June. D) On the 19th of June.

9. A) The man thinks the woman is wasting ‘her tirne.
B) The man thinks the womman should make full use of her time.
'C)+The man'is eager to know the womar's ‘answer. .

D) The man can wait and theré is no need for her to hurry. -

NEYTTELET)

10.A) To run into eachidther:. C) To avoid the.crowds. ..
B B) To get bargains. D) To join the crowds.~
N Section B

o ? iy ' bl
Directions: In this section , you will hear 3 short passages. At the end of each
passage, you: will hear. some questions. Both the passage and the

questions will be spoken only once!. Afteryowthear a question ; you

must choose the best answer from the four choices marked A ), B),
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C) and D). Then mark the corresponding letter :n the Answer
Sheet with a single line throigh the centre. ~ .4
Passage One R LTS L S B 4
Questions 11 to 13 are based on the passage-you have just heard..
11. A) Because of their love for hobbies and pastimes.. Lo
B) Because of their enthusiasm. for sports. el s b
C) Because of their fear of heart attacks. 1 Cag
D) Because of their strong desire for godd health.. "+ . <0
12. A) It was decreasing ¢ iC) It remained almost unchanged..
B) It was increasing.! D) It was going-up slowly. -
13. A) Those who have heart attacks.
+. B)“Thosg who have the desire to:be; physically- it O]
C) Those who have spare. time: i : P 7
D), Those who have inactive jobs,; N
Passage Two . o \ co -
Questions. 14 to 16 are based on the passage.you have. just; heard, .
14. A) In the white pages. C). In the, yellow- pages: a,
B) In the blue pages. - D) In a special section.
15. A) On the first page of-the telephone; book.; L[4
v B) At the end of the telephone book. - P
‘G) In-the front of the:white: pages. - T
D) Right after ithe white pages., e .
16..-A) Chéck your mumber and call again. i -
+ B) Tell the:operator what:has happened. R I T AR
C) Ask the operator«to'put you.through. . . P TS
D) Ask the operator what has; happened.. ~. « _ T
Passage Three o AP
Questions 17 to 20 are based on.the. passage. you have just; heard..;
17. ‘A) lIts specialization in transporting: small packages. >t~ -3 41 .
B) The low>cost of its:sérvice. . LWl
C) Being: the first airline to send urgent letters '
D) Its modern sorting facilities. " ‘
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18. A) 10,000. . O 130. R 1
B) 35. D) 30, Lot RIS

19. A) Because of its good airport facilities. T
B) Because’of its location in thercountry.. =~ f.._ - W T "
C) Because of its size. 1. o Yoo 1w Lo 1t
D) Because of its round-the-clock service: .+ ¢ -+ -~ 3 4

20. A) Its full-time staff. : -4
B) The postmen who work.in: Memphxs -y ) '
C) Students who work in their spare; time. +

D) The staff members-of the International Airport..
Part [ Reéading Comprehension - -. . (35 minutes)
Directions: There are 4 passages in ihis part . Each passage is followed by some
questions or unfinished statements. Fortéich of them ‘theié are four
choices marked A),B),C) and D). You should decidée’on ‘the best
choiceiand mark the.coiresponding letter:on-thé Answei- Sheet with-a
single livie through thé centre . s Tt
Passage One ¥ P O
Questions 21 to 25 are based on the following passage:
It is natural for younwmm parents’ at. tlmes and to

blame them foanf,the mlsunderstandmgs between them. They Jhave always

ways; that they are possessive and dominant that they do.not trust thelr childréen
to deal with crises; that they talk too much about. certain problems'— and that
they have no sense of humour, at least in parent-child relationships. /
- I think it is true that parents often u,rgi_el;g_stjrrge their teenage children and
also @Ei‘c“how they themselves felt when young. .o 1
Young people ‘often irritate ‘their, parents ‘with. theirichoices iin clothes and
hairstyles, in entertainers and'music. This is#not:il'iin motive., Th.ey feel cut off
from the adult world into which they have not: yet been dccepted. So they ¢reate
a culture and’ society of their own. Then, if it turns out that their imusic or

entertainers or vocabulary or clothes or hairstyles irritate, their-parents, this gives
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them additional enjoyment. They feel they are-superior, atvleast in a small way,

= h - e ’

and that they are leaders in style and taste. : Floa
Sometimes youwiare :resistant, and proud because your:doznot want your

parents to approve of what you.do:. If they did approve, it looks as: il you are

- \-—"_—-_/ . o
betraymg your own age group: But'in that case, you are assuming that you are

the underdog; you can’'t win but at least you can keep your honourx*This is a
passive way of looking .at 'thmgs Itiis natural - enough after ‘long. years' of
.childhood, when you were completely under your parent$ ‘control. But it ignores
the fact that you.are mow beginning ‘tor be r%ponmble for yourself.

If you plan to control your life, co-operatlon can, 0. be part-of that plan. You
can charm others, especially-parents, into domg thmgs the ways. you want.. You
can Tr;p—rie‘ss_‘ others with your sense of responsiblility and initiative, so‘that they
will‘g‘i:fe you the authority to do.what you: want to do. '

21. The author is primarily addressing __ . . . i
A) parents of teenagers SO
B) newspaperireaders N Cto i},’ 5
v \C:'}’d{ose who give advice to teenagers ‘ v 1

Q/teenagers t s .o
22. &) The. first' paragraph is’mainly about . i

/{)/the teenagers criticism of their parents A suaC
- 3B ‘misunderstandings: between. teenagers and their parents

€) ‘the.dominance of. the parents over their children ., .. * 1 r T

- D):the teenagers ability to deal with crises Y r 1> o« 1 -
231 Teenagers tend to have strange:clothes and hairstyles because they..
dwant to show their existence by creating.a cultire of their-own:.;

B) havera:strong desire to be leaders:in stylerand taste

\G\)/have no other way.te enjoy themselves better+

D) want to irritate their parents. . oL Y

24 . ‘Teenagers do nat want their! parents to approve of whatevér they do because

they . . v .

A) 'have already been accepted intoithe adult world X . v
xB)(’fgel that; they are superior-in a small way to the.adults - r -

(SR HMEH RS
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Y
v:. G):are not likely to win over the adults {
i))/lave a desire to be independent: ; b
25.r To improve parent-child relationships,. teenagers are-advised to 92. x

v A) cbedientx ! o G)Zo-operative -
4 -B) responsible: 1. D) indepehdent , .
Passage'Twe  «f T v g

‘Questions 26/to 30 are:based on.the following passage:

¢ 1 The lohg years of food shortage in-this' country. -havessuddenly: given way ‘to
apparent abundance. Storés:and shops are. choked with:food. Rationing (€%t ##
JBI) is. virtually suspended, and overseas: suppliers haverbeen asked. to hold back

dehverlevaet, mstead! of joy, there is. wide-spread uneasiness and confusion:,

Why do food prices keep on rising,. when there.seems to: be: SO0 much more: food

aboutr7 Is the abundance only- temporary, or has it come. to. stay" Does it méan
that we need to think less now about producing' more: food at ‘home? No cdrie
knows what to expect, i
ﬁ’fh-e recent growth of export surpluses on the. world food market has
certainly been unexpectedly_gr;egt_, partly. .lzcicqgse a’ strange sequence of two '
successful grain harvests in North America is now being followed by a third. Most
of Britain's overseas suppliers of meat, too, are offering more this year and honie
production has also risen. s . - )
""But the effect of+all; this.on the food situation in this country has been made

worse by a simultaneousirise in food prices, due chiefly to the ‘gradual cutting
P e et . =

“down of government support for food. The shops.are gvfe_r-stocked -with, food not

only because there'is more food available; but also because people, frightened by
high prices, are buying less of it. . t

Moreover, the rise in domestic prices has come ata ‘time when world prices
have begun to fall with the ‘results that 1mported food,. with the excepuon of
grain, is often cheaper than the home—produced variety. And now!grain ptices,
too, are fallmg ‘Consumers are- beginningto.ask why ‘they jshould not;:be. enabled
to benefit from this trend. _

The significance of these developments fis*not lost:on farmers. The older

W:J&.y\gener'ation have seen it all-happen before. - Despite. the spresent price :and market
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guarantees, farmers fear they are about to be squéezed .between cheap {ood

imports and a shrinking home market. Preserit production is running at 51 per
cent above pre-war levels, and the government has-called forzan iexpansion to 60 .
per m 1956; but repeated.Ministerial advice.is cayrying-Jitt]evw;ig‘ht and the
expansion programrme is not, working very well. -
26. Why is there “wide-spreadiuneasiness and confusion about:ihe; 166d situation
in Britain?”’ . - t: :
A) 'I‘/he' abundant food supply is not expected to: l@\’n»
.B) Britain is.importing less food. <

/ ’ o
\Q}Despite. the abundance; food prices kéep rising: ’ . m

~ a

D) Britain will cut back on its produiction of food. "L - A

27. The main reason for the rise in food prices is that W0 ;:

A) people are buyingiless food . . - "
«B) the government is providing less financial support for agriculture 4
C) domestic food produ\c_tion has.decreased- . "
D) imported food is driving prices higher- . e "
28. Whydidr't the governments expansion programnie. work very- well?
A) ‘Because the farmers were uncertain about the financial support the
government guaranteed. . - c '
B) Befause the farmers were uncertain about the benefits of ‘expanding
production. . o .
G) Because the farmers were uncertain whether foreign markets could be
found for theiriproduce. :
D) Because the older generation of ‘farmers were strongly agailnst the
programme. . S ’
29. The decrease in world food. prices'was a result of .
A) a sharpfall in the purchasing power of the consumers
B) a sharp fall in the cost of food production 1
-C) the overproduction of 'food in the {ood-importing countries

.(\P}the overproduction on-ithe part of the main food-exporting countries - //
30. What did the future look. like for Britain's food production at-the time this 7 /.

i
article was written? ., . 14
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x . A) Thefall-inworld food prices would benefit British- food producers. . 1
1 B) An expansion.of food production was at hand.
' *C). British food producers would receive more ‘government-financial support.
,\.D}It’ looks depressingrdespite goverment guarantees. .. E
Passage Three ! i iy -
Questions 31. to 35 are based ‘on- the following passage:: ' .

It is hard to predict how science is going to turn out, and if it is really.good
science it is impossible to predict. If the things to-be found are'actually—n_e;v—; they
are,by definition unknown in advance. You:cannot make choices i this rhatter.
You either have science or you don't; and if 'you. have. it you are obliged. ic accept
fhe surprising and disturbing' pieces of information; along with the neaf and
promptly useful bits. - ‘ ‘ . lia

The only solid piece of scientific truth about which:l feel tolally confident is -
‘tﬁit, we are profoundly ignorant about riature. Indeed;, I regard this as the‘major
discovery of the past hundred years of biology: It is, in its way, an illuminating
piece of news. It would have' amazed the brightest mind$ of the 18th century
Enlightenment (8581830 to be told by any of us how littleswe kiiow and how
bewi]dering seemns the way ahead. It is this sudden confrontation with the-depth
and s scope of ignorance tiﬂ;t 'rﬁeprsents the most significant ‘contribution of the
20th centuryssciencesto the human intellect.. In earlier times, we either pretended
to understand how thmgs worked or_ignored the problem, or simply n‘;';:i‘e up
stories to fill the gaps. Now that we have begun exploring in earnest, we are
getting ghrnpses of how™ huge the questions are, and how far from being
answe‘rgglr Because of this, we are’ depr&sed It is notso bad being-ignorant if
you are totally ignorant; the hard thmg is knowing in some detail*the reality of
ignorance, the worst spots and .here and there ‘the:not-so-bad 'spots, but no true
light at the end of the tunnel nor even any tunnels that can yét'be trusted.

But we are making' a beginning; and there cughtuto :be ‘some :satisfaction.
There are Prgbably, no questions we. can think up. that can’t be: answered\,.sooner
or late},\ ;ncluding. even' the matter of consciousnéss. To be:sure; there may well
be questions we c:ilrlt_ think,up, ever,. and therefore limits.to the reach of human

intellect, but that is another matter. Within our limits, ‘we should be able to
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work.our way ‘through to all our answers, if we.keep at-itilong’enough, and pay
attention.

31. According to the author, really good science . 37

A) would surprise thebrightest minds-of:thé 18th century Enlightenmeiit =

B) will produce results'whichicannot be foréseen = - .
St 1y

- ) will help people to make the right choice in advance
.+ D) will bring-about disturbing Tesults 4 . - ¥

32. It «can be inferred from. the passage that scientists’ of.d‘thg I8th century .

.9ty I . L ) "l

‘s/A) thought' that ‘they* knew a great deéal and ‘could solve ‘most’ problems of
sciénce - - DO !
- B).wereafraid of facing up ‘to-the: realities 6f scientific research * '
G) knew that they weré ignorant and wanted to’know: miore about nature
D) did more harm than good in proinoting man’s utiderstanding: of nature
33, “Which of the following statemerits is NOT tfue of scientists ifi- earlier: fimes?
A) They invented false theories to explain things they didi't understandy
B) They falsely ¢laimed to know all about nature:, r
) They did not. believe in results from scientificiobservation.  *
D) They paid little attention.to the problems they didr't underxtand
34. What is the author’s attitude towards science?
- A) He'is depressed because of the ignorance.of scientists.
B): He is doubtful because of the enormous difficulties ‘confronting it.
G). He is confident though he is aware of ‘the “enormous difficulties
confronting it. C e - .
D) He is delighted because of the illuminating scientific firidings.
35. The author believes: that .

A) man can find solutions to whatever questions concerning nature he ‘can

think up .
B) man can not 'solve all.the problems he can. think nip because ‘of the limits
of human intellect ' . i .

+  C) sooner or later man ¢an think up all the questions concerning nature and
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o D) questions concerning consciousness are_outside: the scope of .scientific
research
Passage Four ’ 4 1~
Questions 36 to 40 are based on the following passage: wT
Greenspace facilities are contributing to an; important extent to the quality of
the urban environment, ,Fortunately, it is no longe;, necessary. that every lecture or

every book about this subject has to start; with the proof of; this idea. ;At present,

. it.is generally_accepted, although more as a self-evident statenient. than on the

base of a closely-reasoned scientific proof. The recognition of the importance of
greenspaces in the urbanrenvironment'is-a fxmt step on the right, .way, this does
not mean, however, that sufficient details are known about the, functions of
greenspace in towns and about the way:in which ‘the mhabltams are using ‘these
spaces -As to/this rather.complex subject; I shall, within,the, scopé of this lecture,
enter into one,aspect oglyj, riamely the recreative function of greenspaceifacilities.
The theoreticalTsep;ation of living working,. traffic,and rfecreation; which for
many years .has been .uséd in town-and, -country planning, has in my opinion
resulted in dxspropomonate -attention for. forms of recreation far from home,
e s T Wil
whereas there was, ,relatwely little attention for imprévement of reu'eauve
possibilities -in: the direct. nelghbourhood of the home. We have come to the
conclusion that this xs‘not nght: because an important part of the time which we
do not pass in sleeping or working; is used for activities.at and around: home. So
it is obvious that recreation in the open air has to begin at the street-door of the\
house. The, urban environment, has, to offer ‘as many recreation activities as
possible, and the desxgn of these has to be such that more obhgatory. activities can
also have a recreative aspect T - .
The very best standard of living is nothmg if it is not possible to take a
pleasant walk in the district, if the: children cannot be allowed to play in the
streets, because the risks of traffic are too great, if during shopping you can
nowhere find a:spot for erjoying for a momént the:nice weather, in short, if you
only feel yourself at home after the street-door of your house is closed after you.
36. According to.-the: author, the importance of greenspaces in- the urban

environment . . e



